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1. � q(x1, x2, x3) = x1x2 + x1x3 − 2x2x3 ´ R3 þ��g., O� q �\¶.

2. �

S =

(
0 1

1 0

)
∈ SM2(R).

(i) ´Ä�3 P ∈ GL2(R), ¦� S = P tP? XJ�3, O���ù��Ý
 P .

(ii) ´Ä�3 P ∈ GL2(C), ¦� S = P tP? XJ�3, O���ù��Ý
 P .

3. �

q : Mn(R) −→ R
X 7→ tr(XX t).

y²: q ´ Mn(R) þ��g.¿¦ q �\¶.

4. � A ∈ SMn(R) � det(A) < 0. y²: �3 x ∈ Rn ¦� xtAx < 0.

5. � A ∈ SMn(R) �½. y²: éu?¿ m ∈ Z, Am �½.

6. � V ´ n �¢�m, f1, . . . , fs+t ∈ V ∗. �

q = f 2
1 + · · ·+ f 2

s − f 2
s+1 − · · · − f 2

s+t.

(i) y²: q ´�g.;

(ii) (À�) 2©O� k Ú ℓ ´ q ��.5�êÚK.5�ê. y²: k ≤ s Ú ℓ ≤ t.
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